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Problem 1. Consider the vectors a and b below. Draw the vectors a+ b,a —
b,0.5b — a.

0.5b -

Problem 2. Write the following sums of vectors each as a single vector:

a. 4B+ BO
b. CD+ DB
c. DB-AB
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® Ac
® cp
© DA



Problem 3. Consider the vectors u = (2,1) and v = (-1, —4).
a. Sketch u,v on the same axes, using (0,0) as the basepoint for both.
b. Add the vector u — v to your sketch by scaling and shifting v.
c. Compute u — v in component form. Check that it matches your picture.
d. Find the unit vector in the direction of u.
e. Find the unit vector in the direction opposite of v.

f. Find the vector of length 3 in the direction oppositve of u.
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